2601 10-11
250110-22
250138-11
26013822
¥01-110
201- 120
2602-116
602-220
2606

2600

2608

SN b

2602110

2635110
2633.220

2438
294801
H¥N

-]
Br4-A

2479
WBATSON
2474

2647-BL
2647-BR

2651
26527

-0
w8520

110V Motor

220V Mosor

116V Cunar Head
220V Cunver Head
10V Sunor

220V Staer

11V Amnatere

L0V Ammturt
ORmg

Motor Covet
Screw For Statc
LY O

10V Armatenc

TNV Amane
ORing

Mouer Contc
Sorew Foe Seater
Mowr Pluc

Sundand

Roller

Rolter Shaft

Sercw for Pressure Spving
4th Lower Bluie

4th Lower Blade Arm
ird Lower Blade
Lower Blake

Screw for Lower Blade
Sacw for 4th Lower Blxkc
Sevew foe 3 Lower Blade
Halance Iron

Drive Haodle Set
Hamlee Corr

Swinch

Shaspener

Grinder Collar
Sormg for Coltar
Colla Holder

Emery Wheel

Grinder Arm

Lock Nt for Kmfe
Round Kaife

Rarsfe Guoed

Kaife Cover
Terminal Bow

110V Counter

220V Coumer

Covgter Switch

Coner for Termiral Bex

Left Clamp Sct

Right Clasngp Scs
AClamp
Lift Beh Catch:

Bar Lifier Rofler
Spang for L4

Big Scnew
Washer for Big Saew
Rigin Bar { :fter
Leh Bar Lifter

Bar Lifser Plate

Left Bar

Reght Bar
Rotler for it Beit
Rolier Statt

Rolier Sct
Susizmning Frame Unn
7 foet Sustaimnyg Bar
$ fioet Sustnrung Bar
9 foct Sustaeng Bar
§0 fet Sestarmmg Bar
Sustawung Bar Ring

265355-7

¥

I
55N
26517

Blig
387

PURTLER

-0
26587

¥

SI
sios
S1t
5178

2032-B
0L
X33

1.7

12356411
12356412

NTM610

PMOil6

360138-110
36013820
301
J0N-5P
10INCL
HOIN-AD

7 fiest Rl Set

B fieet Rl Set

9 feea Rail Set

10 feer Rail Set

Rail Guand

7 feer Rail Seexl Beht
8 fext Rl Secel Belt
9 feet Raif Sweel Beh
10 feet Rail Swwel Belt
7 et Rl Rubber Bek
£ foot Bail Rubber Belt

e ) B s TR

B feet Raxil Stoel Beh

9 feet Rail Stacl Bek

§0 fcet Rail Seoed Bei

7 foct Rail Rubber Bel

B Foet Rail Robber Beht

9 foct Rail Rubber Belt

10 fect Rail Rupher B2t
Screw for Rl

§ feet Lifter Bolt

10 foct Lifter Heh

1OV Cable Sct

A Cable St

Sarew Driver

Wrech

2 Symn Sparmer

Carbon Brzsh

Cap for Carhon Brush

Oxlier

Presae Spring for Loaer Blade
Rocker

Semew for Rocker

Scqew Cap

Rocker Screw

7 foet Rocker B

& foet Rocker Bar

9 ot Rocker Bur

10 feet Rockey Bar

Cloth Fixture

110w .1 Socket

21X, | Socie

Screw M3*2S Not Cop
NUT, M5-0.8 Hex

NUT. M5-1.0 Hex
NUTM8-1.25 Hex

Scvew Ma=ls

Screw M35 Plate Rovosd Cap
Screw M1 Flee Round Cap
Sercw M¥*10 Prae Found Cip
Washer 5.3°10

Washer 647115

Washer 347155

Screw M4*B Roumd Cap
Scvew M58 Rowmd Cap
Somew MS*35 Rownd Cap
Screw M6*15 Round Cap
Screw M6*30 Round Cap
Serew M5*20 Fis Cap
Screw M6*20 Fla Cup
Scvew M6230 Flu Cap

7 fact Cloth Hold Bar

8 feet Cloth Hold B

9 fet Cloth Hold Bar

10 feet Clixh Hold Bar

TV Long handle Cutter Head
220V Long handle Carer Head
Long Handfic

Speing

Rexr Amn

Froat Asm



FOR ST-260C 8 ST-360C

MODEL:ER-109

/63946N-L

PhATADN,

/26-”-39

649

24

revious| next



264749

:
N

- 4-

revious

next



mmm e mmy

18-
\‘
‘)

12356274

2635°%

eagaze’ - .
261522 AR
NTHS0R

[

508 ‘,."
260150, ‘ 2035
4””

S

ee.szx:},, /]‘\t\\ )

~
-~

653- 7

R Bq

S Sy

a
K /!
N o
x r
v ’
S k .
' ‘
; .
f f 1
” M
- f
R |
- 3
B Wy
'
. ’

5169

| previous | next |



SPECIFICATIONS

Knife Size - 108mim4 Y4 inches)
Knife Shape : Round

Cutting Capacity : lmm

Voltage : Single Phase 100v~120v
or  220v-240v
Cycle : 50-60Hz
Power : 130w
-2

633C

] Erevious | next |



